

ON A SUBCLASS OF MEROMORPHIC FUNCTIONS DEFINED BY HILBERT SPACE OPERATOR

P. T. REDDY^{1*}, B. VENKATESWARLU², H. NIRANJAN³, R. M. SHILPA², §

ABSTRACT. In this paper we introduce and study a new subclass of meromorphic functions associated with a certain differential operator on Hilbert space. For this class, we obtain several properties like the coefficient inequality, growth and distortion theorem, radius of close-to-convexity, starlikeness and meromorphically convexity and integral transforms. Further, it is shown that this class is closed under convex linear combinations.

Keywords: Meromorphic functions, Coefficient estimates, Hadamard product, Hilbert space operators.

AMS Subject Classification: 30C45.

1. INTRODUCTION

Let Σ be denote the class of functions of the form

$$f(z) = \frac{1}{z} + \sum_{m=1}^{\infty} a_m z^m \quad (1)$$

which are regular in domain $E = \{z : 0 < |z| < 1\}$ with a simple pole at the origin with residue 1 there.

Let Σ_s , $\Sigma^*(\alpha)$ and $\Sigma_k(\alpha)$, $0 \leq \alpha < 1$ be denote the subclass of Σ that are univalent, meromorphically starlike of order α and meromorphically convex of order α respectively. Analytically $f(z)$ of the form (1) is in $\Sigma^*(\alpha)$ if and only if

$$Re \left\{ -\frac{zf'(z)}{f(z)} \right\} > \alpha, \quad z \in E. \quad (2)$$

¹ Department of Mathematics, Kakatiya Univeristy, Warangal, 506 009, Telangana, India.
e-mail: reddypt2@gmail.com; ORCID: <https://orcid.org/0000-0002-0034-444X>.

* Corresponding author.

² Department of Mathematics, Gitam University, Doddaballapur, 562 163, Bengaluru, India.
e-mail: bvlmaths@gmail.com; ORCID: <https://orcid.org/0000-0003-3669-350X>.
e-mail: madhuri.4073@gmail.com; ORCID: <https://orcid.org/0000-0002-8869-86>.

³ Department of Mathematics, School of Advanced Sciences, VIT University, Vellore, 632 014, India.
e-mail: niranjan.hari@vit.ac.in; ORCID: <https://orcid.org/0000-0002-6024-1987>.

§ Manuscript received: August 30, 2020; accepted: November 11, 2020.

TWMS Journal of Applied and Engineering Mathematics, Vol.12, No.4 © Işık University, Department of Mathematics, 2022; all rights reserved.

Similarly, $f \in \Sigma_k(\alpha)$ if and only if $f(z)$ is of the form (1) and satisfies

$$Re \left\{ - \left(1 + \frac{zf''(z)}{f'(z)} \right) \right\} > \alpha, \quad z \in E. \tag{3}$$

It being understood that if $\alpha = 1$ then $f(z) = \frac{1}{z}$ is the only function which is $\Sigma^*(1)$ and $\Sigma_k(1)$.

The classes $\Sigma^*(\alpha)$ and $\Sigma_k(\alpha)$ have been extensively studied by Pommerenke [7], Clunie [2], Royster [8] and others.

Since, to a certain extent the work in the meromorphic univalent case has paralleled that of regular univalent case, it is natural to search for a subclass of Σ_s that has properties analogous to those of $T^*(\alpha)$. Juneja and Reddy [6] introduced the class Σ_p of functions of the form

$$f(z) = \frac{1}{z} + \sum_{m=1}^{\infty} a_m z^m, \quad a_m \geq 0, \tag{4}$$

$$\Sigma_p^*(\alpha) = \Sigma_p \cap \Sigma^*(\alpha).$$

For functions $f(z)$ in the class Σ_p , we define a linear operator D^n by the following form

$$\begin{aligned} D^0 f(z) &= f(z) \\ D^1 f(z) &= \frac{1}{z} + 3a_1 z + 4a_2 z^2 + \dots = \frac{(z^2 f(z))'}{z} \\ D^2 f(z) &= D(D^1 f(z)) \\ &\vdots \end{aligned}$$

$$\begin{aligned} D^n f(z) &= D(D^{n-1} f(z)) = \frac{1}{z} + \sum_{m=1}^{\infty} (m+2)^n a_m z^m \\ &= \frac{(z^2 D^{n-1} f(z))'}{z}, \quad \text{for } n = 1, 2, \dots \end{aligned} \tag{5}$$

Let H be a Hilbert space on the complex field and $L(H)$ denote the algebra of all bounded linear operators on H . For a complex-valued function f analytic in a domain E of the complex plane containing the spectrum $\sigma(T)$ of the bounded linear operator T , let $f(T)$ denote the operator on H defined by the Riesz-Dunford integral [3]

$$f(T) = \frac{1}{2\pi i} \int_C (zI - T)^{-1} f(z) dz,$$

where I is the identity operator on H and C is positively oriented simple closed rectifiable closed contour containing the spectrum $\sigma(T)$ in the interior domain [4]. The operator $f(T)$ can also be defined by the following series

$$f(T) = \sum_{m=0}^{\infty} \frac{f^{(m)}(0)}{m!} T^m$$

which converges in the norm topology.

The class of all functions $f \in \Sigma$ with $a_m \geq 0$ is denoted by Σ_p . The object of the present paper is to investigate the following subclass of Σ_p associated with the differential operator $D^n f(z)$.

Definition 1.1. For $0 \leq \beta < 1$ and $0 \leq \alpha < 1$, a function $f \in \Sigma_p$ given by (1) is in the class $\sigma_p(\alpha, \beta, T)$ if

$$\begin{aligned} & \|T(D^n f(T))' - \{(\beta - 1)D^n f(T) + \beta T(D^n f(T))'\}\| \\ & < \|T(D^n f(T))' + (1 - 2\alpha)\{(\beta - 1)D^n f(T) + \beta T(D^n f(T))'\}\|. \end{aligned}$$

The main object of the paper is to study some usual properties of the geometric function theory such as coefficient bounds, growth and distortion properties, radius of convexity, convex linear combination and convolution properties, integral operators and δ -neighbourhoods for the class $\sigma_p(\alpha, \beta, T)$.

2. COEFFICIENT BOUNDS

We first give a characterization of the class $\sigma_p(\alpha, \beta, T)$ by finding necessary and sufficient condition for a functions in the class. This characterization implies coefficient estimates.

Theorem 2.1. A function $f \in \Sigma_p$ given by (4) is in the class $\sigma_p(\alpha, \beta, T)$ for all contraction T with $T \neq \theta$ if and only if

$$\sum_{m=1}^{\infty} [m + \alpha - \alpha\beta(m + 1)](m + 2)^n a_m \leq (1 - \alpha). \quad (6)$$

The result is sharp for the function

$$f(z) = \frac{1}{z} + \frac{1 - \alpha}{[m + \alpha - \alpha\beta(m + 1)](m + 2)^n} z^m, \quad m \geq 1. \quad (7)$$

Proof. Suppose that (6) is true for $0 \leq \beta < 1$ and $0 \leq \alpha < 1$. Then

$$\begin{aligned} & \|T(D^n f(T))' - \{(\beta - 1)D^n f(T) + \beta T(D^n f(T))'\}\| \\ & - \|T(D^n f(T))' + (1 - 2\alpha)\{(\beta - 1)D^n f(T) + \beta T(D^n f(T))'\}\| \\ & = \left\| \sum_{m=1}^{\infty} (m + 1)(1 - \beta)(m + 2)^n a_m T^m \right\| \\ & - \left\| 2(1 - \alpha)T^{-1} - \sum_{m=1}^{\infty} [m + (1 - 2\alpha)(\beta - 1 + \beta m)](m + 2)^n a_m T^m \right\| \\ & \leq \sum_{m=1}^{\infty} (m + 1)(1 - \beta)(m + 2)^n a_m \|T\|^m - 2(1 - \alpha)\|T^{-1}\| \\ & + \sum_{m=1}^{\infty} [m + (1 - 2\alpha)(\beta - 1 + \beta m)](m + 2)^n a_m \|T^m\| \\ & = 2 \sum_{m=1}^{\infty} [m + \alpha - \alpha\beta(m + 1)](m + 2)^n a_m \|T^m\| - 2(1 - \alpha)\|T^{-1}\| \\ & \leq 2(1 - \alpha) - 2(1 - \alpha) = 0, \text{ by using (6)} \end{aligned}$$

and so $f \in \Sigma_p$ is in the class $\sigma_p(\alpha, \beta, T)$.

Conversely suppose that $f \in \sigma_p(\alpha, \beta, T)$ satisfies the coefficients inequality (6). Since $f \in \sigma_p(\alpha, \beta, T)$ then

$$\begin{aligned} & \|T(D^n f(T))' - \{(\beta - 1)D^n f(T) + \beta T(D^n f(T))'\}\| \\ & < \|T(D^n f(T))' + (1 - 2\alpha)\{(\beta - 1)D^n f(T) + \beta T(D^n f(T))'\}\|. \end{aligned}$$

From this inequality, it is obtained that

$$\begin{aligned} & \left\| \sum_{m=1}^{\infty} (m + 1)(1 - \beta)(m + 2)^n a_m T^{m-1} \right\| \\ & < \left\| 2(1 - \alpha) - \sum_{m=1}^{\infty} [m + (1 - 2\alpha)(\beta - 1 + \beta m)](m + 2)^n a_m T^{m+1} \right\|. \end{aligned}$$

By choosing $T = rI (0 < r < 1)$ in above inequality, we get

$$\frac{\sum_{m=1}^{\infty} (m + 1)(1 - \beta)(m + 2)^n a_m r^{m+1}}{2(1 - \alpha) - \sum_{m=1}^{\infty} [m + (1 - 2\alpha)(\beta - 1 + \beta m)](m + 2)^n a_m r^{m+1}} < 1.$$

Letting $r \rightarrow 1$ in the above inequality, we obtain the assertion (6).

This completes the proof of the theorem. □

From Theorem 2.1, we have the following result.

Corollary 2.1. *If a function $f(z) \in \Sigma_p$ given by (4) is in the class $\sigma_p(\alpha, \beta, T)$ then*

$$a_m \leq \frac{(1 - \alpha)}{\sum_{m=1}^{\infty} [m + \alpha - \alpha\beta(m + 1)](m + 2)^n}, \quad (m \geq 1). \tag{8}$$

The result is sharp for the function f of the form (7).

3. DISTORTION BOUNDS

In this section, we obtain growth and the distortion bounds for the class $\sigma_p(\alpha, \beta, T)$.

Theorem 3.1. *If $f \in \sigma_p(\alpha, \beta, T)$ then $0 < |z| = r < 1$,*

$$\begin{aligned} \|f(T)\| & \geq \frac{1}{\|T\|} - \frac{(1 - \alpha)}{3^n [1 + \alpha - 2\alpha\beta]} \|T\|, \\ \|f(T)\| & \leq \frac{1}{\|T\|} + \frac{(1 - \alpha)}{3^n [1 + \alpha - 2\alpha\beta]} \|T\|. \end{aligned} \tag{9}$$

The result is sharp for

$$f(z) = \frac{1}{z} + \frac{(1 - \alpha)}{3^n [1 + \alpha - 2\alpha\beta]} z. \tag{10}$$

Proof. Suppose $f(z)$ is in $\sigma_p(\alpha, \beta, T)$. By Theorem 2.1, we have

$$3^n [1 + \alpha - 2\alpha\beta] \sum_{m=1}^{\infty} a_m \leq \sum_{m=1}^{\infty} (m + 2)^n [m + \alpha - \alpha\beta(m + 1)] a_m \leq (1 - \alpha).$$

Therefore $\sum_{m=1}^{\infty} a_m \leq \frac{1 - \alpha}{3^n [1 + \alpha - 2\alpha\beta]}.$

Also, if $f(T) = T^{-1} + \sum_{m=1}^{\infty} a_m T^m$, then

$$\frac{1}{\|T\|} - \sum_{m=1}^{\infty} a_m \|T\|^m \leq \|f(T)\| \leq \frac{1}{\|T\|} + \sum_{m=1}^{\infty} a_m \|T\|^m. \quad (11)$$

Since $\|T\| < 1$, the above inequality becomes

$$\frac{1}{\|T\|} - \|T\| \sum_{m=1}^{\infty} a_m \leq \|f(T)\| \leq \frac{1}{\|T\|} + \|T\| \sum_{m=1}^{\infty} a_m. \quad (12)$$

Using (11), we get the result. \square

Theorem 3.2. *If $f(z) \in \sigma_p(\alpha, \beta, T)$ then*

$$\begin{aligned} \|f'(T)\| &\geq \frac{1}{\|T\|^2} - \frac{(1-\alpha)}{3^n[1+\alpha-2\alpha\beta]}, \\ \|f'(T)\| &\leq \frac{1}{\|T\|^2} + \frac{(1-\alpha)}{3^n[1+\alpha-2\alpha\beta]}. \end{aligned} \quad (13)$$

The result is sharp for

$$f(z) = \frac{1}{z} + \frac{(1-\alpha)}{3^n[1+\alpha-2\alpha\beta]} z. \quad (14)$$

4. EXTREME POINTS

In this section, we obtain extreme bounds for the class $\sigma_p(\alpha, \beta, T)$.

Theorem 4.1. *Let $f_0(z) = \frac{1}{z}$ and*

$$f_m(z) = \frac{1}{z} + \frac{(1-\alpha)}{[m+\alpha-\alpha\beta(m+1)](m+2)^m} z^m, \quad m = 1, 2, \dots. \quad (15)$$

Then $f \in \sigma_p(\alpha, \beta, T)$ if and only if can be expressed in the form

$$f(z) = \sum_{m=0}^{\infty} \tau_m f_m(z), \quad \tau_m \geq 0 \quad \text{and} \quad \sum_{m=0}^{\infty} \tau_m = 1.$$

Proof. Assume that $f(z) = \sum_{m=1}^{\infty} \tau_m f_m(z)$, ($\tau_m \geq 0$, $\sum_{m=0}^{\infty} \tau_m = 1$, $m = 0, 1, 2, \dots$).

Then we have

$$\begin{aligned} f(z) &= \sum_{m=0}^{\infty} \tau_m f_m(z) \\ &= \tau_0 f_0(z) + \sum_{m=1}^{\infty} \tau_m f_m(z) \\ &= \frac{1}{z} + \sum_{m=1}^{\infty} \frac{1-\alpha}{[m+\alpha-\alpha\beta(m+1)](m+2)^n} z^m. \end{aligned}$$

Therefore $\sum_{m=1}^{\infty} [m+\alpha-\alpha(m+1)](m+2)^n \tau_m \frac{1-\alpha}{[m+\alpha-\alpha\beta(m+1)](m+2)^n}$

$$= (1-\alpha) \sum_{m=1}^{\infty} \tau_m = (1-\alpha)(1-\tau_0) \leq (1-\alpha).$$

Hence by Theorem 2.1, $f \in \sigma_p(\alpha, \beta, T)$.

Conversely, suppose that $f \in \sigma_p(\alpha, \beta, T)$. Since, by Corollary 2.1,

$$a_m \leq \frac{1 - \alpha}{[m + \alpha - \alpha\beta(m + 1)](m + 2)^n}, \quad m \geq 1,$$

setting $\tau_m = \frac{[m + \alpha - \alpha\beta(m + 1)](m + 2)^n}{1 - \alpha} a_m$, $m \geq 1$ and $\tau_0 = 1 - \sum_{m=1}^{\infty} \tau_m$.

We obtain $f(z) = \tau_0 f_0(z) + \sum_{m=1}^{\infty} \tau_m f_m(z)$.

This completes the proof of the theorem. □

Theorem 4.2. *The class $f \in \sigma_p(\alpha, \beta, T)$ is closed under convex combination.*

Proof. Let the functions $f(z) = \frac{1}{z} + \sum_{m=1}^{\infty} a_m z^m$ and $g(z) = \frac{1}{z} + \sum_{m=1}^{\infty} b_m z^m$ be in the class $\sigma_p(\alpha, \beta, T)$. Then by Theorem 2.1, we have

$$\begin{aligned} \sum_{m=1}^{\infty} [m + \alpha - \alpha\beta(m + 1)](m + 2)^n a_m &\leq (1 - \alpha), \\ \sum_{m=1}^{\infty} [m + \alpha - \alpha\beta(m + 1)](m + 2)^n b_m &\leq (1 - \alpha). \end{aligned}$$

For $0 \leq \tau \leq 1$, define the function $h(z)$ as $h(z) = \tau f(z) + (1 - \tau)g(z)$.

Then we get $h(z) = \frac{1}{z} + \sum_{m=1}^{\infty} [\tau a_m + (1 - \tau)b_m]z^m$. Now we obtain

$$\begin{aligned} &\sum_{m=1}^{\infty} [m + \alpha - \alpha\beta(m + 1)](m + 2)^n [\tau a_m + (1 - \tau)b_m] \\ &= \tau \sum_{m=1}^{\infty} [m + \alpha - \alpha\beta(m + 1)](m + 2)^n a_m + (1 - \tau) \sum_{m=1}^{\infty} [m + \alpha - \alpha\beta(m + 1)](m + 2)^n b_m \\ &\leq \tau(1 - \alpha) + (1 - \tau)(1 - \alpha) \\ &= (1 - \alpha). \end{aligned}$$

So, $h \in \sigma_p(\alpha, \beta, T)$. □

5. RADII OF CLOSE-TO-CONVEXITY, STARLIKENESS AND CONVEXITY

Theorem 5.1. *Let $f \in \sigma_p(\alpha, \beta, T)$. Then f is meromorphically close-to-convex of order γ ($0 \leq \gamma < 1$) in the disc $|z| < r_1$, where*

$$r_1 = \inf_{m \in \mathbb{N}} \left[\frac{(1 - \gamma)[m + \alpha - \alpha\beta(m + 1)](m + 2)^n}{m(1 - \alpha)} \right]^{\frac{1}{m+1}}. \tag{16}$$

The result is sharp for the extremal function given by (7).

Proof. It sufficient to show that

$$\|f'(T)T^2 + 1\| < (1 - \gamma). \tag{17}$$

By Theorem 2.1, we have

$$\sum_{m=1}^{\infty} \frac{[m + \alpha - \alpha\beta(m + 1)](m + 2)^n}{1 - \alpha} a_m \leq 1.$$

So the inequality

$$\|f'(T)T^2 + 1\| = \left\| \sum_{m=1}^{\infty} ma_m T^{m+1} \right\| \leq \sum_{m=1}^{\infty} ma_m \|T\|^{m+1} < (1 - \gamma)$$

holds true if

$$\frac{m\|T\|^{m+1}}{1 - \gamma} \leq \frac{[m + \alpha - \alpha\beta(m + 1)](m + 2)^n}{1 - \alpha}.$$

Then (15) holds true if

$$\|T\|^{m+1} \leq \frac{(1 - \gamma)[m + \alpha - \alpha\beta(m + 1)](m + 2)^n}{m(1 - \alpha)}, \quad m \geq 1$$

which yields the close-to-convexity of the function and completes the proof. \square

Theorem 5.2. Let $f \in \sigma_p(\alpha, \beta, T)$. Then f is meromorphically starlike of order γ ($0 \leq \gamma < 1$) in the disc $|z| < r_2$, where

$$r_2 = \inf_{m \in \mathbb{N}} \left[\frac{(1 - \gamma)[m + \alpha - \alpha\beta(m + 1)](m + 2)^n}{(m + 2 - \gamma)(1 - \alpha)} \right]^{\frac{1}{m+1}}. \quad (18)$$

The result is sharp for the extremal function given by (7).

Proof. Let $f(T) = T^{-1} + \sum_{m=1}^{\infty} a_m T^m$. Since $f \in \sigma_p(\alpha, \beta, T)$ is meromorphically starlike of order γ ,

$$\left\| \frac{Tf'(T)}{f(T)} + 1 \right\| \leq (1 - \delta). \quad (19)$$

Substituting for f , the above inequality becomes,

$$\sum_{m=1}^{\infty} \left(\frac{m + 2 - \gamma}{1 - \gamma} \right) \|T\|^{m+1} a_m \leq 1. \quad (20)$$

By Theorem 2.1,

$$\sum_{m=1}^{\infty} \frac{[m + \alpha - \alpha\beta(m + 1)](m + 2)^n}{1 - \alpha} a_m \leq 1. \quad (21)$$

Then, (20) will be true if $\left(\frac{m+2-\gamma}{1-\gamma} \right) \|T\|^{m+1} \leq \frac{[m+\alpha-\alpha\beta(m+1)](m+2)^n}{1-\alpha}$.

That is $\|T\| \leq \left[\frac{(1-\gamma)[m+\alpha-\alpha\beta(m+1)](m+2)^n}{(1-\alpha)(m+2-\gamma)} \right]^{\frac{1}{m+1}}$. \square

Theorem 5.3. Let $f \in \sigma_p(\alpha, \beta, T)$. Then f is meromorphically convex of order γ ($0 \leq \gamma < 1$) in the disc $|z| < r_3$, where

$$r_3 = \inf_{m \in \mathbb{N}} \left[\frac{(1 - \gamma)[m + \alpha - \alpha\beta(m + 1)](m + 2)^n}{m(m + 2 - \gamma)(1 - \alpha)} \right]^{\frac{1}{m+1}}.$$

The result is sharp for the extremal function given by (7).

Proof. By using the technique employed in the proof of the Theorem 5.1, we can show that

$$\left\| \frac{Tf''(T)}{f'(T)} + 2 \right\| < 1 - \gamma$$

for $|z| < r_3$ and prove that the assertion of the theorem is true. \square

6. HADAMARD PRODUCT

Theorem 6.1. For function $f, g \in \Sigma_p$ defined by (1) and (2) respectively, let $f, g \in \sigma_p(\alpha, \beta, T)$. Then the Hadamard product $f * g \in \sigma_p(\rho, \beta, T)$, where

$$\rho \leq 1 - \frac{(1 - \alpha)^2(m + 1)(1 - \beta)}{(1 - \alpha)^2[1 - \beta(m + 1)] + [m + \alpha - \alpha\beta(m + 1)]^2(m + 2)^n}.$$

Proof. We need to find the largest ρ such that

$$\sum_{m=1}^{\infty} \frac{[m + \rho - \rho\beta(m + 1)](m + 2)^n}{1 - \rho} a_m b_m \leq 1.$$

Since $f, g \in \sigma_p(\alpha, \beta, T)$, by Theorem 2.1, we have

$$\sum_{m=1}^{\infty} \frac{[m + \alpha - \alpha\beta(m + 1)](m + 2)^n}{1 - \alpha} a_m \leq 1 \tag{22}$$

and $\sum_{m=1}^{\infty} \frac{[m + \alpha - \alpha\beta(m + 1)](m + 2)^n}{1 - \alpha} b_m \leq 1. \tag{23}$

From (22) and (23), we find, by means of the Cauchy-Schwartz inequality, that

$$\sum_{m=1}^{\infty} \frac{[m + \alpha - \alpha\beta(m + 1)](m + 2)^n}{1 - \alpha} \sqrt{a_m b_m} \leq 1. \tag{24}$$

We want only to show that

$$\begin{aligned} & \frac{[m + \rho - \rho\beta(m + 1)](m + 2)^n}{1 - \rho} a_m b_m \leq \frac{[m + \alpha - \alpha\beta(m + 1)](m + 2)^n}{1 - \alpha} \sqrt{a_m b_m} \\ \Rightarrow \sqrt{a_m b_m} & \leq \frac{(1 - \rho)[m + \alpha - \alpha\beta(m + 1)]}{(1 - \alpha)[m + \rho - \rho\beta(m + 1)]}. \end{aligned} \tag{25}$$

On the other hand, from (24), we have

$$\sqrt{a_m b_m} \leq \frac{(1 - \alpha)}{[m + \alpha - \alpha\beta(m + 1)](m + 2)^n}. \tag{26}$$

Therefore in view of (25) and (26), it is enough to find the largest ρ that

$$\frac{(1 - \alpha)}{[m + \alpha - \alpha\beta(m + 1)](m + 2)^n} \leq \frac{(1 - \rho)[m + \alpha - \alpha\beta(m + 1)]}{(1 - \alpha)[m + \rho - \rho\beta(m + 1)]}$$

which yields

$$\begin{aligned} \rho & \leq \frac{[m + \alpha - \alpha\beta(m + 1)]^2(m + 2)^n - n(1 - \alpha)^2}{[m + \alpha - \alpha\beta(m + 1)]^2(m + 2)^n + (1 - \alpha)^2[1 - \beta(m + 1)]} \\ \Rightarrow \rho & \leq 1 - \frac{(1 - \alpha)^2(m + 1)(1 - \beta)}{(1 - \alpha)^2[1 - \beta(m + 1)] + [m + \alpha - \alpha\beta(m + 1)]^2(m + 2)^n}. \end{aligned}$$

□

Theorem 6.2. For function $f, g \in \Sigma_p$ defined by (1) and (2) respectively, let $f, g \in \sigma_p(\alpha, \beta, T)$. Then the function $k(z) = \frac{1}{z} + \sum_{m=1}^{\infty} (a_m^2 + b_m^2)z^m$ is in the class $\sigma_p(\rho, \beta, T)$, where

$$\rho \leq 1 - \frac{2(1 - \alpha)^2(m + 2)^n[1 - \beta(m + 1) + m]}{\{[m + \alpha - \alpha\beta(m + 1)](m + 2)^n\}^2 + 2(1 - \alpha)^2(m + 2)^n[1 - \beta(m + 1)]}.$$

Proof. Since $f, g \in \sigma_p(\alpha, \beta, T)$, we have

$$\sum_{m=1}^{\infty} \left[\frac{[m + \alpha - \alpha\beta(m + 1)](m + 2)^n}{1 - \alpha} a_m \right]^2 \leq 1 \tag{27}$$

$$\text{and } \sum_{m=1}^{\infty} \left[\frac{[m + \alpha - \alpha\beta(m + 1)](m + 2)^n}{1 - \alpha} b_m \right]^2 \leq 1. \tag{28}$$

Combining the last two inequalities, we get

$$\sum_{m=1}^{\infty} \left[\frac{[m + \alpha - \alpha\beta(m + 1)](m + 2)^n}{1 - \alpha} \right]^2 (a_m^2 + b_m^2) \leq 1. \tag{29}$$

But we need to find the largest ρ such that

$$\sum_{m=1}^{\infty} \left[\frac{[m + \rho - \rho\beta(m + 1)](m + 2)^n (a_m^2 + b_m^2)}{1 - \alpha} \right] \leq 1. \tag{30}$$

The inequality (30) would hold if

$$\frac{[m + \rho - \rho\beta(m + 1)](m + 2)^n}{1 - \rho} \leq \frac{1}{2} \left[\frac{[m + \alpha - \alpha\beta(m + 1)](m + 2)^n}{1 - \alpha} \right]^2.$$

Then we have

$$\begin{aligned} \rho &\leq \frac{([m + \alpha - \alpha\beta(m + 1)](m + 2)^n)^2 - 2m(1 - \alpha)^2(m + 2)^n}{([m + \alpha - \alpha\beta(m + 1)](m + 2)^n)^2 + 2(1 - \alpha)^2(m + 2)^n[1 - \beta(m + 1)]} \\ &= 1 - \frac{2(1 - \alpha)^2(m + 2)^n[1 - \beta(m + 1) + m]}{([m + \alpha - \alpha\beta(m + 1)](m + 2)^n)^2 + 2(1 - \alpha)^2(m + 2)^n[1 - \beta(m + 1)]}. \end{aligned}$$

□

7. INTEGRAL OPERATORS

In this section, we consider integral transforms of functions in the class $\sigma_p(\alpha, \beta, T)$ of the type considered by Goel and Sohi [5].

Theorem 7.1. *Let the function $f \in \Sigma_p$ given by (1) be in the class $\sigma_p(\alpha, \beta, T)$. Then the integral operator*

$$F(z) = c \int_0^1 u^c f(uz) du, \quad 0 < u \leq 1, \quad 0 < c < \infty \tag{31}$$

is in the class $\sigma_p(\rho, \beta, T)$, where

$$\rho = 1 - \frac{(1 - \alpha)(1 + 2\beta) + c}{(1 + \alpha - 2\alpha\beta)(c + 2) + (1 - \alpha)(1 - 2\beta)c}.$$

The result is sharp for the function

$$f(z) = \frac{1}{z} + \frac{(1 - \alpha)}{3^n [1 + \alpha - 2\alpha\beta]} z.$$

Proof. Let $f \in \Sigma_p$ given by (1) be in the class $\sigma_p(\alpha, \beta, T)$. Then

$$F(z) = c \int_0^1 u^c f(uz) du = \frac{1}{z} + \frac{c}{c + m + 1} a_m z^m. \tag{32}$$

We have to show that

$$\sum_{m=1}^{\infty} \left[\frac{c[m + \rho - \rho\beta(m + 1)](m + 2)^n}{(1 - \rho)(c + m + 1)} \right] a_m \leq 1. \tag{33}$$

Since $f \in \sigma_p(\alpha, \beta, T)$, we have

$$\sum_{m=1}^{\infty} \frac{[m + \alpha - \alpha\beta(m + 1)](m + 2)^n}{1 - \alpha} a_m \leq 1.$$

The inequality (33) satisfied if

$$\frac{c[m + \rho - \rho\beta(m + 1)]}{(1 - \rho)(c + m + 1)} \leq \frac{[m + \alpha - \alpha\beta(m + 1)]}{1 - \alpha}.$$

Then we get

$$\begin{aligned} \rho &\leq \frac{[m + \alpha - \alpha\beta(m + 1)](m + c + 1) - (1 - \alpha)cm}{[m + \alpha - \alpha\beta(m + 1)](m + c + 1) + c(1 - \alpha)[1 - \beta(m + 1)]} \\ &= 1 - \frac{(1 - \alpha)(1 + \beta(m + 1) + cm)}{[m + \alpha - \alpha\beta(m + 1)](m + c + 1) + c(1 - \alpha)[1 - \beta(m + 1)]}. \end{aligned}$$

$$\text{Since } \phi(m) = 1 - \frac{(1 - \alpha)(1 + \beta(m + 1) + cm)}{[m + \alpha - \alpha\beta(m + 1)](m + c + 1) + c(1 - \alpha)[1 - \beta(m + 1)]}$$

is an increasing function of m , $m \geq 1$. We obtained the desired result. □

Acknowledgement. I warmly thank the referees for the careful reading of the paper and their comments.

REFERENCES

- [1] Akgul, A. and Bulut, S., (2016), On a certain subclass of meromorphic functions defined by Hilbert space operator, *Acta Universitatis Apulensis*, 45, 1-9.
- [2] Clunie, J., (1959), On meromorphic schlicht functions, *J. London Math. Soc.*, 34, 215-216.
- [3] Dunford, N. and Schwartz, J. T., *Linear Operators, Part 1: General Theory*, Wiley- Interscience, New York, NY, USA, 1958.
- [4] Fan, K., (1978), Analytic functins of a proper contraction, *Math. Z.*, 160(3), 275-290.
- [5] Goel, R. M. and Sohi, N. S., (1981), On a class of meromorphic functions, *Glasnik Mat.*, 17, 19-28.
- [6] Juneja, O. P. and Reddy, T. R., (1985), Meromorphic starlike univalent functions with positive coefficients, *Ann. Univ. Maiiae Curie Sklodowska, Sect-A* , 39, 65-76.
- [7] Pommerenke, Ch., (1963), On meromorphic starlike functions, *Pacific J. Math.*, 13, 221-235.
- [8] Royster, W. C., (1963), Meromorphic starlike multivalent functions, *Trans. Amer. Math. Soc.*, 107, 300-308.

Pinninti Thirupathi Reddy for the photography and short autobiography, see TWMS J. App. and Eng. Math. V.12, N.3



Venkateswarlu Bolineni received his master degree in Mathematics in 1999 with first division from Nagarjuna University, Andhra Pradesh, India. He received his Ph.D degree in 2012 from the same university. At present, he is working as an associate professor in the Department of Mathematics at GITAM University. His area of interests are Complex Analysis and Algebra.



H. Niranjan received his PhD from the University of Malaya, Kuala Lumpur. Presently, he is a senior assistant professor of mathematics in Vellore Institute of Technology, Vellore, Tamilnadu, India. His research interests are complex analysis, CFD, nanofluids, numerical methods boundary layer theory and Numerical heat transfer.



Madhuri Shilpa Rompilli received her master's degree from Andhra University in Mathematics, Andhra Pradesh. Presently, she is a Ph. D research scholar in the department of Mathematics at GITAM University, Bengaluru under the guidance of Dr.B. Venkateswarlu. Her area of interest in research is in Complex Analysis.
